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Section A !~ '
For each questlon from 1to 28 four options are given. One of them is the correct answer. Indicate

your choice in this booklet and shade the correct oval (1, 2, 3 or 4) on the Optical Answer
Sheet provided. ’ .

1. The diagram béldw shows a retting log habitat.

- mushrOOms

{

Based only on the dlagram above which of the following statements are correct?

A There is only one commumty
B “There are two populanons of fungi.
C There are two populations of plants.
D There are two populations of insects.
(1) AandC only (2) B and D enly
3) A, C and D only (4) B Cand D only
2. The table below shows 3 organisms grouped accordmg to 2 physncal factors X and Y, that
are found in the envuronment they llve in.
nganlsm . Physncal Factor X_ Physical .Factor Y .
K - “Low _High
- Water hyacinth High High
: :EéﬂhWOrtp"' ' _ High _Low

“John found that orgamsm K preferred bright and dry environments. Which of the following
best represents phys:cal factors X and Y, and the habitat that organism K can be most likely

found m‘?
Physlcal factorx : Pﬁyé"iﬂc’;a’l YT T
1) lght | Moisture
(2) Molsture Light
3 Light Moisture
(4) “Moisture Light
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“The diagram below shows the food relatlonshlps among organisms. found in the desert. The
cactus provides shelter for orgamsm B.

VE ¢———pD———pC
cactus., . YB +—— A

After hunters have killed most of organism E, the population .of organism C still rehains
constant. How would the populatton of the cactus and animal B be affected?

_Cactus . Orgamsm B
4)) Increase Increase
(2) Increase Decrease’
(3) | __Decrease Increase
4 Decrease - Decrease

The diagram below shows a food web.

27N
BTN

Rahman made three statements about the food web. above
A : : There are 'SiX food chams L ‘
B . There are five consumers. ~
C Jisbotha prey and a predator.

Which statement(s).; is/are correct?

(1) only | 4 (2 Bonly
(3) ~andB only : 4 -~ ABandC
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A type of dolpipins was obServed to swim around a school of fish and guide them towards a
fisherman’s boat. The dolphins feed on the small fish that escape from the fisherman’s net.

Based only on the information above, which one of the following correctly states and .
explains the relabonshsp between dolphms and man? ,

3
i

‘ Relationship Reason

(1) | Dolphins benefit, man is Dolphms have ‘mian’s protection from

harmed | .| predators, but man loses money with less fish
i caught.

(2) | Man ben",eﬁts,-’ dolphins do not | Man can control.dolphins and doiphins are
benefit _ | their servants.

3) Both-marf; and dolphins Man can catch more fish and dolphins have
benefit - food to eat. ,

. {4) | Neither dblphins nor man - Man has fish stolen by dolphins' and dolphins -

benefits | are hunted by man. ,
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6.

The diagram below shows insect X which is a plant-eater.

, — prickly “ant-like”

bright warning colours & structure

~ wing

Insect X has a large “ant-like” structure on its head. The "ant-like” structure is light and has
~ prickly spikes.

Which of the following characteristic(s) help to p‘rotec't insect X from its predators?

‘ Characteristics

e ghtwamuﬂcolours Wings Pnckly “ant-like” structure
) Yes No - No

(2) “No Yes No
(3) - No ‘ Yes : Yes
4) - ‘Yes Yes. Yes

The graphs below show a population of animal W. Anima W eats grass grown at either
locations S or K bver a period of a year.

Number of animal W | Number of animal W
A . _ ' A

123456789101112 Months 12 3 456 7°8 9101112 Months

Locaition.s - " Location K

- Based on the mformatlon given, whlch of the followmg statement is hkety to be correct’?

1 Ammal W was able to survive in places with very Iow raxnfall
(2) Animal W was completely killed off several times during the year.

(3)  More grass was available at location K than S from months 7 to 9.
4) The birth rate of ammal w decreased and its death rate mcreased from months
2to 4.
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8.

The diagram téelow shows animal C

The following arie adaptations that animal C uses to help it survive in its habitat. Which of
these are behavioura adaptations?

Shakes its head to communicate.

A

B Hibemates when the weather turns cold.

C  Males are more colourful than females to aftract mates.

D Inflates itself in small spaces to avoid being pulled out by its predators.
(1) BandConly (2 CandDonly
(3) A, Band C only (4) A, Band D only

Which one of the fiollowing does not ensure that an organism wili. survive till édulthood?

(1 Eggs are laid in a shelter.-
; Eggs are laid near a food source.
(3) Eggs are laid in large numbers each time.
(4) Eggs are not cared for-by the adult organism.
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10.  The diagram below shows fish P.
sand-coloured body
Fish Pis streamlmed has both eyes on one side of its body. It eats other fish and. is often
found flat on the seabed covering its body, except its eyes. with- sand.
Based on the lnfon'natton above which of the following reasons for fish P’s adaptations are
correct?
Adaptation | _Reason
A | Has a streamlined body Swims quickly to catch its prey
B Has a sand-coloured body - - Blends into its environment to preveni
: - its prey from spotting it
C: | Covers its body with sand Anchors it to the bottom of the sea
Has both eyes on one side of.its. body | Keeps it warm
(1) Aand B only (2) B and Conly .
(3) C and D only 4) A, B and C only
“11.  Which one of the following isffot a)method to reduce overfishing? .
(1) ‘Remove predators of the fish.
=(2) - Impose fines on excess fish caught. .
(3)  Allow onlylarger sized fish to be caught. :
(4) Allow only certam areas of the sea to be used for fi shmg.,.




12. Some sctentxsts studied the effect of carbon dioxide on the number of mosquitoes in country
X. These mosqurtoes cause the spread of dengue

Number of ﬂengue cases - Temperature (°C)
A : A

i
Z

P hd P
>

Temperature (°C) Amount of carbon dioxide (unit)

{
i

Based on the graphs above, wh|ch of the followmg could have caused the increase in the
number of dengue cases?

i
|

A - Increase in deforestatlon

B Increase.in the usage of fossil fuels

C Decrease in the use of plastic straws
(1) AandB pnly 2) A and C only
(3) B and C only o (4) A,BandC

13. Jasmyn set up an experiment using similar seeds in a warm room as shown below.

box P (clear plastic box) box Q (wooden box)
\
L seeds ~ N '
\ | damp
| _dry cotton R . /_ cotton
wool _ . 1.1 wool
' box S (cléar plastic box)
v ~1 air
damp
— cotton 7
st wool
In which box(es) could the seed germinate?
(1)  Ronly | 2) PandSonly

(3)  QandRonly - 4) Q and S only
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14, Study the table below.

Reproductive pa . " -Function ‘
' J ? Where eggs are produced
K ' To receive the sperm
L To produce the sperm
M

Where a fertilised egg develops

Which one of the following diagrams has been labeifed correctly based on the functions
above? ‘ )

M

3)

Page 9 of 21



15. The table befbw shows. the amount of carbon dioxide found in blood samples collected from
blood vessels, A, B, C and D, in the human body.

Blood vessels | Amount of carbon dioxide
{0 1 in blood sample (units) -
L low
high
high
low

olojm|>»]

“Which one of thie following diagrams correctly identifies E)lood vessels A, B, C and D?

) — 2 _
' filungs " “lungs:
C D A B
heart 1 heart
B T A D | c
rest of zthe body rest of the body
\
@ | @
lungs ' S lungs
D C D_ B

heart f heart - -

AT | | c’[ 1A
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16. Which of the foliowing correctly describes the functions of the digestive syétem?

.A To remove water from undigested food.

B To break down food into-smaller pieces
C. To transport digested food around the body,
D To break down food into simpler substances *
(1) A and,C only S - () B and D only

(3) = A Band Conly : 4) A, B and D only

17.  John cut down a tree to set up a campfire as shown in the diagram below. *

' firewood

Which one of the fo_llowing shows the main energy-conversion?

: _Ene_rgyfron;.th'é vsvun _ Energyofihe firewood ' = | ‘Energy of the fire - - -
‘(1) ™ Tight energy > } heat. eqérgy > |  light energy -
@) | ‘_mtenﬁa énergy > | potentialenergy. | >} . heatenergy
e 'ﬁghféne’r'gy > "p'o.terfltial eher_gy TS| heat onergy * Tght nergy
('4')' ' _ - heat e“néi'gy" 2> : potentiai energy IE 'heaf energy + light ’énergy
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18.

{
|

Four similar‘-si%ed‘b!ocks, P, Q, Rand S, were set up as shown below.

Which one of the fp,llbwing statements is corfect?

M R has less bmvﬁaﬁonal potential énergy than P.

(2) Q has the greatest amount of gravitational potential eriergy.
3) P and S have the same amount of gravitational potential energy.
(4) Qand S haye the same amount of gravitational potential energy.

i
4
i
i
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19. A marker pen holder with a magnet init was attached to a whiteboard made of magnetic
* material. A weight was then added to the holder and the haelder started to slide down while
still being attracted to the whiteboard as shown in the diagram below.

holder
‘magnet part o
of holder weight
whiteboard e ol s
whitehe [ Nt
 before weight was.added - ~°  afterweight was add?d i

Which of the follow;ng {forces were present when the holder was sliding down the

whiteboard? .
A frictional force
B grav:tatlonal force
c elastic spring force
D magnetic force of attractlon
(1) A and Bonly : (2\) B and D only

3) CandD only 4) A, B and D only
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20. A yery elastic spnng of ongmal fength 20 cm was hung from a ceiling and came fo rest as

shown below. |
P —
/'y
> 21cm
20 cm
& i at!
before gixperiment spring hung from a ceiling
Figure 1 Figure 2

Which of the foIIoinng statement(s) is/are correct about the spring in figure 2 above?

A Grav:tahonal force has caused the spring to extend.
B There is !ess elastic spring force in the spring when it was extended.
C There is more gravitational force acting on the spnng after it was hung

from the celung

(1) Aonly | o (2) - AandBonly
(3) Aand C only (4) B and C only
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21.  Ameenah set up the circuit as shown below to test if object R conducts electnc:ty She then
repeated the expenment by replacmg object R with object S. '

bulb C

 battery

objectR

The table be!ow{shows her observations.

. Observations
Object —
: Bulb A ‘ Bulb B Bulb C
R | lightupbrightly | did notlightup |lightup brightly |
s lightupdimly | didnotlightup | light up dimly

Based on the observations above, which o_f the following statements are correct?

A Object R is a conductor of electricity. :
B Object S does not allow electnclty to pass through :
C There is no electricity passirig through the filament of bulb B.
B Less electricity f passes through bulb A than through bulb Cin both
' . expenments
1) A and B only (2> AandConly -

(3) CandDonly @ A,B,CandD
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22.  Study the four (%ircuit diagrams below.

—i[ifij—

Which two bulbs woiuld have the same brightness?

(1) PandQ
(2) PandS

. (3 RandS
(4 QandR

{
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23.. James plugs in many appliances into a single socket as shown in the diagram below.

switch -

The diagratﬁ ,b_eléw shows the arrangement of the appliances to show the connection above.

electrical supply - '
: switch
'”_.—Q—"/ o—
appliance X ‘
appliance Y .
— appliance Z ‘

many appliances
connected to one socket_

'Based on the information above, which of the following statement(s) is/are correct?

A When the switch is switched off, all the applianoes can no longer work.

B - - When one appliance fuses the rest of the apphanoes will continue to
work as electnc:ty can flow through them. ;
C. .When many apphances are connected to one socket, more electncnty

passes through appliance X than apphance Y.

(1) - AO"'Y o ' ' (2; ~ Aand B only
3) Aand C only , : (4) . BandConly
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24, . Jakeisina coﬁnpletely dark room with several obiects.
Which of the objects below would he be able to see?

A
B
C
D

(1)

(3)

A mirror

A sheet of black paper
A sheet of white paper
A piece of aluminium foil

A and D only

A, C and D only

i
i

2
(4)

B and C only
None of the above

25. Sets of two bloc!és A and B, of different sizes were placed side by side. Bdth blocks A and
B are made of the same metal. The temperature of each block at the start of the experiment

is indicated in the dnagram below.

block A

block B

'set-ué E |

. block A 50°C
50°C | block B
- set-up D
50°C blockA |~ 70°C
[ 70°C b]ock B 50°C
set-up F

In which of the set-up(s) will the temperature of block B increase lmmedlately after being

placed beside block A’?
(1) Eonly |
(2) F only

(3 DandE only |

4

Eand Fonly |
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26. A sealed plasﬁé bag of air was left on an electronic balance under the sun for 4 hours as

shown below.
' air
{,_Xi plastic bag o
| I | ) I 1
— L1 [T
159 4 electrqnic balance i 2g
* Start of experiment - ' End of experiment

Which of the following statements aboint the set—ub at the end of the experiment are correct?

A The air in the plastic bag expanded.
B The mass of air in the plastic bag increased.
C The volume of air in the plastic bag decreased.".
D The reading on the electronic balance remained the same.
(1) - Aand D only S (2)- BandConly

(3) A, Band D only ' @ A, Cand D only
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Study the diagram beki?w and answer Questions 27 and 28.

o

1 y!
H - 4

=4—rod -

paper clip

plastic
tray

ot ] e
..‘:5;'2-.;‘]

DT R T e ""-

27.  Which of the followirfg are materials that the rod can be made of?

iron
steel i
wood ’
copper

TOw>

(1) Aand B onlyég : A 2) B and C only_
(3)  CandDonly, (40 A, BandDonly
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28.

Abby added ah; additional battery to the set-up as shown below.

L (=31 Wy e O e _—;:'l
- -ﬂmﬁ-i" AN o AR '*—*‘\1 o~ ..2;;:.-)

1.
H  H I

—— rod

paper clip

plastic
tray

She observed }thy‘at the number of paper clips atfracted by the magnetised rod did not
increase.

A
B

o

(1
(3)

'Which of the folloWing are poééible reasons for her observation?

The battery added had no energy.

The wire could not conduct electricity. ]
The other paper clips in the tray were made of rion-magnetic materials.
Aonly o (2)  Aand Conly
~ Band C only : 4) ABandC

~ END OF BOOKLET A ~
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Section B
Write your answers to quest&ons 29 to 40 in the spaces provided.

29. . Afarmer set up an expenment to find out how the number of plants grown on a plot of land
affected the helght of the plants

His results are shown in the graph below.

Height of plan-t_s:(cm)
‘ A

| 3 :
10 20 Number of plants

(a) What is the re!atlonshlp between the number of plants grown and the height of the
plants? | [2]

The diagram belovi; shows a seedball' It contains seéds in a mixture of soil and mineral
salts The farmer observed that when he used a seédball contammg 20 seeds. the

seedlings appeared tall and unheailthy,

i

(b) Explam why usmg seedballs wnth more than 10.seeds leads to-taller and unhealthier
seedlings. | RS {5
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- Throwing seedba!ls isa techmque used to dlSperse many seeds qu:ckiy for reforestation.
Seedballs of planf P were released from alrplanes over location X. ‘

The graph below §hows how the arhount of rainfall changes at location X.over a year.

Rainfall (mm)
' A

T
L.
T

Months of the year

(c) Based on the graph above, explain why despite releésing a large number of
seedballs of plant P in September, the population of plant P remained low. - [1]

(d) The dlagram below shows a seed. Draw and label the part that will appear first when
it germmates : : 1]

\

soil
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30. The table below shows the food relat:onshlps among organisms S, T and U in a habitat.

Relatlonsh:p _gamsm
~ Prey S
Predator ' T

_ Producer U

i

(a) State me'iift’)od chain found in the habitat above using S, T and U. [5]

]
b ——

]

!

The graph below shows how the number of arganisms S and T change over a period of
time. %

|
|

Number of organisms

! .
i L
AL B ' C " Time (weeks)
. Several organisms R; which feeds on T, were. released«into the habitat during the year
- (b) . Circle the. letter A, B or Con the honzontal axis in the graph above to show when
. orgamsm Rwas hkely mtroduced into the- habrtat , 1]

(c) Explain why the population of organlsm u decreases when R has no natural _
predators in thls habitat. ‘ 1]
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31.

Simon conducted an experiment usmg 3 objects made of the.same material. All the objects -
had the same volume. He placed all 3 objects on a table in a room at 30°C. He measured
the temperature of the objects after 5 minutes. His results are shown inthe table below.

Block | Exposed surface | Start " Final :
. area(cm?) temperature (°C) | temperature (°C)
A 24 T80 56 .
B 28 80 - 4
c 32| 80 36

(a)  State the relationship between the exposed surface area of the object and the
amount of heat lost by the object, _ [11

Animals G and H shown below are found in different parts of the world. Animal G has a

_greater exposed surface area fo its surroundings than animal H

~ animal G _ . animal H
- (b) Based on the results of Simon’s experiment, explain why ammal G is more likely
_tobe found hvmg in a hot envu'onment ‘ RUN

(c) . Ammal H has a thick layer of hair around its body Explam how the tthk layer of hair
" _helps animal H.survive in a cold environment. 121
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32.  The diagram bélows
ST

hows fruits, W, X, Y and Z, which have:been cut open.

H
{

(a)  Fillin the (}lassiﬁcation chart below with fruits W, X, Y and Z.

{1

Fruits

|

I

Developed froﬁ: flowers that
have one ovule

H
i

Page 6 of 17
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Evan and Fion obtained part P from a plant and cut it in half as shown in the diagr’am
‘below. S :

small and light seed

red and juicy flesh

Part P

They made the following staterhen{s.

Evan: Part P came from a non-flowering plant. )
Fion: The seeds of part P are dispersed by wind because they are small and light.

Their tea‘che_r; said that both their statements were incorrect.

(b)(i) Based on the diagram, explain why Evan is wrong. 11

(b)(ii) Based onthe diagram, explain why Fion is wrong. : ' M
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33.  Aishawas toi'di that she needed to eat food in order to have energy to carry ouf activities.

i
L.

(a). - _Describie what happens to the digested food after it passes through the walls of the
small infestine. ' ' [2]
ﬂ

|
i
|

—_—

The graph below;’!I shows Aisha’s heart rate while she was performing different activities.

Heart rate (beaits»per minute)

N

A | | j
o | | |
B 1 | |
| | 1
| ol I |
| | o | |
| | 1 |
o oo . I ]
1 Period A Period B I !
B ' I !

sleeping. | :
1
| |
i I
I I
I 1

I
-
o
b
|
1
I

> Time (minutes)

- (b) ~ Match the foi!dwing acﬁvities to the periods, A, Band C, shown above. . .- 1

—r

 Activity Period - . |

' %‘Running

é_R‘eading

éweeping.

,
|
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34.

- The table below shows the average time taken for food to trave! through the stemach of a
“healthy-person-andthe stomach of Zach, who has a condstnon that causes all his muscies to

become weaker over time.

Due to his condmon Zach has to put on the equnpment as shown in the d:agram below on
his leg to help htm walk without falling. ~

equipment

'(a) State the human body system other than the muscular system that serves a similar

function as the equipment above. S 1

(b)  What is the similarity in function betwéen the body system mentioned in (a) and the
equipment above? [1]
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35. A ball was released from pomt P of a ramp. it rolled down through pomts Q and R and
. came to a stop at point A as shown in_the diagram below.

{l‘"
AN

N\
- o—j
: A~ floor

———

(a) Fill in the table below with a tick (v) to correctly show the change in the different
types of energy that the ball has from point P to point R. - 1

i

Remains the

’ rease
Type§ of eneafgy Increases Decreases " same

Poterﬁial energy

| Kinefj‘c energy

Heaﬁ§ energy

i

- Georgina then apblied some oil on the ramp and repeated the_expérime‘nt.

\

N
Jo
A floor
(b)) In the diagg‘:am above, mark with an X' the position where the ball will most
likely stop. | ‘ : 1]
(b)ii) In terms of e}gergy conversion, explain your answer in (b)(i). {11
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Georgina wanted to show how she could use a metal ball to fing a bell. She arranged the
set-up. as shown below.

- metal ball

woboden bléck "~ bell

¥

(c) Fill in the boxes below to show the main energy conversion in the set-up above. [2]

_energy : energy ‘ energy : _energy
(ball at the top . {ball rolling (metal block sliding (bell ﬁnging)

of the ramp) . .~ down the ramp) across the floor)

Page 11of17 : l /l



36. An expenment was conducted to find out the height reached by an. object using a, spring
compressed to drfferent lengths as shown below

i

X

L maximum henght
object pushed down -1 reached by object

" object

length of spring

spring after compression

v
before object wias released

|
|

after object was releaéed

(a) The spnng can be compressed to the shortest length of 10 cm. Draw a lme graph
below to show the most likely results obtained. m

Ar
.
%‘ :

Maximum

height of ;

object \ .

reached (cm) | .
T 1 T T >
0 10 20 30 .40

I, . ..
Length of spring after compression (¢m)

L0
2o

The diagram below sﬁows a jumping shoe made up of a shoe and a sprin'g.

shoe -

_spring

. Page 120f 17 { /I




“The diagram below shows. the max1mum height reached: by the same user when jumping

with-and wathout the shoes

o 3 metres
2 metres '

.~ compressed

spring © . ¥

~ jumping without s'hbé |

" jumping with shoe

(b) Interms of forces, explain the effects of jumping with the shoes on. (2}

John bought a new pair of jumping shoes which has a stiffer spring.

(c) Complete the table below to show the maximum height reached by the same user
- when j jumpmg with this new pair of shoes. [1]

Jumpmgshoe ‘

Maximum height reach.(m)

With original spring

3

With stiffer spring
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37. Glenda created ‘a battéry-operated waming light system as shown below. It Eas an extra
light bulb so ,that?z she can still be alerted if one of the bulbs fuses.
‘ . R _
switch
(a) In the box below draw and labela circuit diagram- of Glenda s warning light system
. based on the d:agram above. [2]
l — -~y N
‘(b) Glenda added more batteries to the circuit and realised that both bulbs fused.

Explain why the bulbs would not light up after they had fused

o



38.  Tim conducted an experiment to find a suitable material to paste over his bathroom window
so that no one could see through the window,

He set up the experiment i in a dark room as shown below.

\ light sensor material

The table below $hows the results of his experiment.

] e Amount of light detected | Distance between light
Set-up Materlal (units) sensor and material (cm)
1 W 150 50
2 X 3o | . a0
3 W e 40
4 X 18 - 50
o
(a) Based on the table above, which . set-ups should Tim use to conduct his

experxment‘? L _ 1

(b) ~ Which material is more su:table to be pasted over T'm S bathroom wmdow’? Explain
your answer. S ; : SRR 4

The material selected is still not suitable as Tim could see a faint image threugh the -
‘bathroom window.

{c) State the property of the material that would be more. suntable to be pasted over the
“bathroom wmdow o B i}
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39. Emiy made a g!iitter-in—.a-botﬂe toy by filling a glass bottle to the brim with liquid X and
sealed it tightly with a lid as shown in the diagram below. e v

lid

liquid X

7
?n;mm T s L

T ) ;
h,{w‘M‘hﬁ'ﬁM
R LR Y
ﬁ ¢

” "xl‘t-"})»—?*—l"b-f:_)“ 2.

glass bottle

iy

Emily left the toy br%lder the sun for half a day and found that some liquid X had leaked out of
the bottle. | :

i
\
i

(a) Explain why;[liquid X leaked out of the bottle. [2]

One way to p.

revent%liquid X from 'léaking out is to leave an air space in the bottle as shown
below. ' L

lid -
air space
| pEEe liquid X

glass bottle

(b) Exblain how the air spaée could prevent liquid X from seeping outof the bottle. 2]

i

-
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40.  Eddie used the set-up shown below to investigate the effect of magnetic forces.

magnet A |

magnet X
]

]
position 1

=
position 2

‘wooden block

position 3

forward

Eddie observed that when he placed magnet A at position 1, magnet X moved fon:vard
pushing the wooden block forward as well. He recorded the dlstance travelled by the

wooden block.

(a) Expiain how magnet A _was‘ab!e to cause the wooden block to move forward.

]

He repeated the expenment by placnng magnets B, C and D at position 1, one at a time. He

then recorded his results as shown in the table below.

Magnet - Distance travelled by the wooden block (cm)
A 5
B 8
C 3.
D 0

(b) Which maQnet, A, B, or C, has the sfrongest magnetism? Explain your answer.

2

(c) Give one possible reason why when magnet D was placed at position 1, the dlstance
travelled by the wooden block was 0 cm. )

mo

~END OF BOOKLET B ~
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P6 SCIENCE Prelim 2019
Suggested Answers

: 2 |14 112 11 22 |1
3 |4 13 [3 23 |2
14 |12 14 |4 24 |4
5 3 15 |1 25 |2
6 |4 16 |4 206 |1
7 13 17 |3 27 |1
8 |4 18 |2 28 |2
o 9 14 |19 |4
Section B 10 |1 20 {1
Qn No L Acceptable Answers
| 29(a). | At 10 plants and below the height of the plants remains constant. Above 10 plants, the -
greater the number of plants grown, the greater the height-of the plants. '
29(b). | The seedlings have to compete for space, light, water and nutrients/mineral salts.
29(c). | The rainfall in Sep was the least so the seeds did not have (enough) water to germinate.
29(d). : -
30(a). ([U>SDT ”
30(b). | Circle the lefter B
30{c). . | There will be less T to feed on S There will be more S to feed onU.
31(a). | The greater the exposed surface area, the greater the amount of heat lost by the block.
31(b). | Animal G can lose more heat (to the surrounding) which will help it to cool down.
'31(c). | The thick layer of hair traps air which is a poor conductor of heat. Thus, animal H will lose
less heat to the surrounding which will help it to keep/ remain warm.
32(a). e ]
| L I
| [ e
Y w
X
L
~ 32(bi). Evan is wrong because part P has seeds hence itis a frutt and since frults develop from :
. ﬂowenng plants/ flowers : S T
:-32(b'ii,)1 ..Fionis wrong because part Pis ]Ulcylred hence It is more hkely to be dlspersed by
animals. »
33(a). | The digested food is absorbed into the bloodstream. ' '
' The cnrculatory system wxll then transports the dugested food to all parts of the body
- 33(b). - D S
Activity - AN Period
Running Ceie e e c. -
Reading J L .
: Sweepm R , A
34(a). Skeletal system
34(b). | Both ensure that the body remain upnght or Both support hlS body/leg
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35(a). Types of ' . y . ‘
Energy . Increase | Decrease | Remains the same
| Potential energy | ] v
_Kineticenergy |
Heat energ’y V
35(b)(i). ‘.
y
\
=0 x
35(b)(ii). | There will be less kinetic energy converted to heat energy so there will be more
] | kinetic energy for the ball to move faster/ further.:
35(c). |PE>KE=> KE -> SE/ KE (write in full, not short forms ok?)
36(a). Maximuny <
heightof | \ '
‘object Length of spring after
reached T —T T » compression (cm)
| (cm) 10 20 30 40 ~
36(b). | The shoes allowthe person to jump higher. When jumping with the shoes, there is elastic
spring force of the spring (together with the push force of the legs), resultmg in more
force acting agamst gravitational force acting on the user.
36{c). | More than 2m but less than 3m
37(a). | - P
S
Ly |
37(b). | When the bulbs ft;lsed, there is an open circuit/ circuit is not closed and thus electricity
can no longer ﬂow through the bulbs to light up the bulb.
38(a). | Set-ups 1 and 4.
38(b). | Material X (matenal) There is less light detected by the sensor (data) so it allows Iess
light to pass through (property) SO No one could see clearly-through the window
: - {function); - -~ - '
.38(c). | Itis opaque l aliows no light to pass throughl does not aflow light to pass through..
39(a). | Liquid X will gain heat from the sun and expand, As there is no space for the liquid to
| oceupy/ liquid cannot be compressed the liquid seeped out (apphcatlon) OR
"Liquid X and the glass bottle will gain heat from the sun and expand. As kquld X expands
more than the bottle there is no space for the lquld to occupy, thus the hquud seeped
out. . 1
39(b). | When liquid X expands it compresses the air in the arr space and oecupaes the space
previously occupied by the air/ liquid X displaces. the air. Thus it does not leak out. .
“40(a). | The like poles of magnet A and magnet X were facing each other, hence they repelled
_ Magnet X moved forward causing the wooden biock to move forward as well. y
40(b). | Magnet B. When magnet B was placed at position 1, the distance travelled by the
4 wooden block | was the furthest this means that there was the greatest repulsronl repei the |
, furthest. i P
- 40(c). | The unlike poles of magnet D and magnet X could be facing” each ott ‘th magnets """ R

| would attract each other. Or The magnetism in magnet D was so weak/ demagnetlsed

that it could not regel magnet X so magnet X dld not move.

i
H
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